0000000 (Obo0obO0oooooog)yoz202300000

googgobobbobobobbooobbobboodooo,gob 3uooboboooon.
e J000DODDDDUDDDODOOIDDOODODD «(DODODO)O

e la(J00OD)IDODOUD,0000D0D0D0000ODOODOODOODDOOOOOOEB(OOO0O)O
0 00000000000 p(ooo)ooooooooooo.

e (00D)DUIUCL,00DDDUDODOUCOOODOUODODDODOOODy(DODOOODO)O

00,0+~ (000000)0000000000000000,000000000000000
0 e (0000)D B (0000)000000O0.

ooooo, 000000 B (O0O0)0, 000000 (DOODODO)0DD0DDODOOODOOO
00000000,000000000000 g(0000)000000+(COOOOO)OOOO
gogbbboodboobooooobooooboon.

eJ] o (J000)0000000,0000008(0000)0000000O0DOO,
00000 (S1)(S2)(S3)(S4)(S5) 0000000000 000000.

o] 4(0000)000000O0,000000+~ (000000)00000000O000,
00000 (S1)(S2)(S3)(S4)(S5)(S6) D0 00000 O0DOOODOODOO.

goboogoob,gubooobbobooobbbuoooob obboobbbooboo.

(S1)(S2)(S3)(S4)(S5) 0000000 DO0DO0O0ONOD,000000000000000OO,
000000 « (0000)00000000 (0« (0000)0000000000000).

1 2 3
4 5 6

(S1) OO [ ] 00,020,010, (1,2)00 000000,

(S2) 30000 OUOOooOOOooooo.

(1 2 2 |
(S3) 000D 34][ ,| 0000D000.00000000,0000000000.

[ 2 1 2]
(S4) 0OOO 1”34 NIO00O0000. 00000000, 0000000000.

;

r+2y—3z =1
(S5) OO 10000 % 2r+5y— 10z = 3 O0OUOOOO0OUOOOOoO,b00oogoobod.
3z 4+ 4y — 2z =1

r+2y—3z =1
(S6) 010000 %2m+5y—10z:3 ggooooooood.
3r+4y—2z =1




